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d 22nd term is 149.

aple 7@ Pind the sum sum first 22 terms of an AP in which d =7 an

~ gplution. Given: 45 = 149

a+21d =149 — a421x7=149 — a=149-147 =2

=
= 2 —?[“*‘"n]:“[z+149]=11!151=166‘1.
d its first term is 2, find the sum of its first 15

' ® If the 10th term of an AP is 47 an
[CBSE Sample Paper 2008)

Example B

terms.
solution. Here, 4,

2+9d'—'47 = 09d =45 —= d=5

5
12—[2 %2 4+14x% 5]:%:{74:15:(37 =555.

=a+9d =47 and a=2

=
515 =-12—5[2ﬂ+(15 —1) d]=
Example # Find the sum of first 51 terms of an AP whose second and third terms are 14 and

_ 18 respecﬁvely.

golution. Given:a, =14 = 2% d=14
a, =18 = a+2d=18 = d=4 [By subtraction]

Putting d =4,

51 51 1 51
5= _2_[2‘14.(51_1);{]:_2_[2,: 1[)+5[‘];:4]-_-5?[2{“20{1]:-;:220:51:: 110 =5610.

@ If the sum of 7 terms of an AP is 49 and that of 17 terms is 289, find the sum ofn
[CBSE D 13]

Example

terms.
Solution. Let a b

e the first term and d the common difference of the given AP. Then,

: =-;—[2a+(7—1}d]=49

or 7a+21d=49 or a+3d=7 LA
Also, Sy = {20+ (17 D4 <289
@

17a+136d =289 or a+8d=17

Subtracting (1) from (2), we get, _5d=-10 or d=2

Putting 4 =2 in (1), we get, a=7-3»2=1
S, =§[2u+(n-—1}d]=-;[2x1.+(n-1)2]=n+n(n-—1}=n+n7‘ —n=mn".




. =
fference, d=2—-.

s =16 and the common di .
he first and the last terms of an AP are 17 and 350 respectively. If the comm
| s their sum ? (CBSE 0D

‘how many terms are there and what i

Here, a=17, 1, =/=350 d=9

= q+(n-1)d=350 = 17+ (n-1)x9 =350

a, =350
9n-9=350-17=333 or on=333+9 =342
n=238
e N 38
Sy =.-2-[n+ i =E—[l7 +350] =19x 367 = 6973.



